& 2
> 8 m S @
s o
> W = Wmu m.m 3 w o) 1)
W =2 8= |o|l& §HF S £
] SEZ |g|C XL 32| g8
<@ = Sso% 58| |8ls|2s|s8
o S 5 L E NS vl |[E=|E=
= > P2 (8g2 S|z |88|2s
T og = = 0w[E[5T8|5T
£ c 28 |8ls | |=|i 22|83
S = =32 5|58 R
N < (N5 2
D 5 222 |35 e| B |s
2 o O o &8 |G|% 5 s %
S S 252 (333 5| |5 |8
S = g == |g|lzs| |8 [3 |2
© © = Se [2]l= N = 8 =
® C 2| L © = n o
-— = c O G| 3= ° N
() Le) — ‘N z|€ g = ° 2
= ho} > SN 3 5| 2|2« N
) N N N <[ R| FPH.EIZ2o|xx
= @© @© s ——— |&|le ¥ il 21 PR W IR
= N N = x|=F o|zE|eQ|c8
ey N e WNE 23| R 5z2|5s
a% > > o Emmm 11.Wmmw.mu
c . C c C = (=3 N M —
T O & O S 0 2/8 |28
S c = S = B[S |s|lu|S|y
o @) e} @) 0 ¢ |< HEHEE
-+— B -+— -— -+— a = ol | 2= i
X X 2 X w = =8l |N
O C o o o ol ZIF P8 g
o 0 Ie) Ie) Ie) S EB IS |B
o ) o o o g g 2 |2 z |x o
o = (o} o o ElE ElE g | 73
L Tpzelz 4 peelz
—
\ - 28'60¢ 86T F10°0- 0002
90'TTH+0 W &
714 pzelz \ —59'6/C |- 99'6LC |10°0- m m 0001
n
-
9€'0b+0 W / c el
yoAzsaid ejp ansfezid Z\& 8|5 8
2\ Bl 3
. - 6v6/C |-o0s6le o0 | = IOI
§5°/65-+0 Wy \
1pzelz
emosnqoine exojez —€€6/2 [-¥E'6LL 100 — 00'06
91622 91642 000 0008
PT'GLEH0 WY /
d pzelz /
' w
6C0LE+0 LY \ | 0062z | 0062 | 000 | 000z
1 pzelz = 86'8.Z [~ 66'8£Z [ 000 ™~ 02'69
o
£
e g e &
S Exs® | svere Legsiz Loo |E5 L 0009
R+ N S Z o Sl T8 Cegse [F100 (B e 7565
86'GGE+0 W gy~ Fa &~
X7
d pzelz My
| eosiz | st 100 | 0005
08¢ [Tewsee 100 <8'6h
95" THE+0 W
1 pzelz | —€9'8/2 [-79'8(2 000 - 00°0%
=\& eopz Fesar oo | B|1E - 00'0€
S|= 4|3
— | S
€8'vCE+0 Wy -
d pzelz /
ez evsie 100 =g 000C
S
28
anu 11
PTHIEH0 WY £
1 pzelz gl
=[5
eegre vesee oo =1 0007
$69'£05+0 Wy eluBMOZAZINS [BUOISBIUAM [UYIZIBIMOd J3IUOY ol /58 E
& —1eece eese F100- e8U (B 2 She0s0
\0 . . . N= — .
19822 Foe8ce 010 i L6650
S
+
. - ogge evsce ero IOI <
£9°£6+0 WY
1 pzelz
6782z st 1o 0006
88°987+0 b BYS[BIM *In Z SluemozAziNg
1280z 08z 810 0008
o
S
w
L
=
' w £l.e
o = 90°C/T+0 Hv_ 2 m 5l€
=) L |
= 1pzeiz = Fyse s oo | KT 0002
(&)
~N
2 €0°G9¢+0 W
3] 1 pzelz
s |5
9082z 620t 10 g[S o009
2
L 66'247 |-18'4L |-8T°0 000
60°9¢+0 W
7 pzelz
0’85740 Wy - 26'0e 182 Foro - 00'0%
yoAzsaid ep apslezid i - 68'2¢ 602t FoT0 o - 09'9¢
Y06 PEZ+0 UD| BIUBMOZAZINS [BUOISAIUAM IUYDZIaIMOd 3a3e290d - [~ 6L L 8Ll 100 <5 06t
0£'TET+0 W
1 pzez e it Feoo 000
GG"6¢¢+0 Wy BueluIba) *|n z JUeMOzZAZIIS <\ E g\2
—\K
Q| =\
—A | w\-=
, 1920t st Feoo- 0002
-85/t 9920t |900- 12
GO'CTT+0 Wy ,/
1pzelz < e /, -8yt s oo 0001
EseeEE EE
ISESINERSR= SS
SAKN ™53 - e evie oo =SB 1290
- - - -w -
o bmn o — <
02°002+0 Wy \ N
, L6z oz oo |O| °
(Auzoyand) 7 pzefz /
o0z Ferie 100 1756
- 020z S0 100 0006
- pg'9/z 1-18'9¢ 200 0008
19922 85902 €00 0002
= Ele
z\a B\
2\e |2
- 8'9/z 59t €00 0009
sr9ze 11902 00 000
/ 26502 -88'50e 00 - 00'0p
% -85t Fvosie 00 - 06°c€
. 6952z | 1950t 200 L 00°0€
75121+ Wy \
(Auzoygnd) 7 pzelz \
i
£
EN S £ £
S~ Eq ez Fossz Fioo |S & 0002
S =05 o - pSC 89Sl F100- |8 & —T6'8T
o T N &
e =zT.0 &
o m h -
-zt eesce oo o [ooor
s (]
g|s
=3
- vesie Fvrsce oo 1680 |
o
\ :
L 65z et oo |O|
9052z |- v0'sce 100 0006
- e6'bee - e6bie 100 0008
- 08z | 6vT 100 0002
o|E Elx
2] ol
=R L 9vre Foovee oo | T[T - 0009
£8°050+0 W /
O»CNU_B:& d _UNm.ﬁN \ - vS'vLC |-€SPLC 000 I— 0005
- Th'bee - obbe 000 - 00'0%
- 8zvez | ovie o000 - 000€
srve | viwee | 000 0007
=0T EbTbic =000 =106
olE E\2
S\= Spobi eove 000 | T\R - 0001
Y = L
)
00°000+0 Wy
- e6ere esese 000 00°00
YINYMOIYYdO NSFUNVZ ¥3L¥Z00d
e
=18
8|4
T
— [ 08 — 0001-
n
=
+
1 1 1 1 1 1 1 1 1 1 1 VN_MFN Ol 0_
=) =) =) o =) =) =) =) =) =) =)
2 0. = o 2 2 = o 2 2 2
o o i o (@)} cOo N~ O LN <t o
(o] (o] [oo] (o) N~ N~ ~ ~ N~ N~ N~
o N oN o o o oN o o o N
4o} @ | < >
7 >| 0O | 9o | ®
—-— o’ > —
[ o =Bl || >
W [} QL ) = [4v]
W [ Q| "= Pt
” O — — N [ e N
= 2 c |2l -2l
O m© ol |8 |c | |g
= NI c c -2 D D =
o o S| S| N|E|E|S
N N N |© |2 | @ =
w X (X | (W | W | X
-




	Arkusze i widoki
	4.1


